................................................

................................................

-
faean
-

....... eeeeaan

-1 0 1 2 3
TP n (PCA to beamline)

@0.08
o

0 0.06F
Vv C
0.04F
0.02F

-0.02F
-0.04F
—0.06F
-0.08F

Ratio

0.5

-0.15

-1 0 1 2 3

—e— DQM_mkFit_step2__pt1to1000_etalpOtolp4

—=— DQM_original_step2__pt1to1000_etalpOtolp4

—— DQM_pixelCPETemplate_step2_ pt1to1000_etalpOtolp4

<o dxy > (um)

-1 0 1 2 3
TP n (PCA to beamline)

< > (Y
op./p, > (%)
I\I) pl- (@) =

|
w

.............

T 0 1 2 3
TP n (PCA to beamline)

10

<dd,>(um)

O N b O

-1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


